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public class Weight{
public static void main(String[] args){
System.out.println("Height : 1.73m");
System.out.println("Standard weight : "+ (1.73%1.73%22) + "kg");
}
}
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abstract boolean break byte case catch
char class const continue default do
double else enum extends final finally
float for goto if implements import
instanceof int interface 1long native new
package private protected public return short
static strictfp super switch synchronized this
throw throws transient try void volatile
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int a;
double x, y, z;
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a = 11;
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X =y =2z=12.34;

o U0x y,z00000 12.34000

int a = 11;
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c = a * b; — cl 165
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c=c/ 10; —cO 16 o 00
c=c % 10; —cl 6 °
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int a = 1234;
double x = 123.4, y;

y = a / 10; — int 0 / int 00O y O 123.00
y =a / 10.0; — int 0 / double 0O y0O 123.40
y = x / 10; — doubled /int0O0O y0O 12.340
y =x / 10.0; — double [0 / double 0 Oy 0O 12.340
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int a =1, b = 2, c;

a+ b x 3; — cO 70
(a + b) * 3; — c [ 900
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double x = 123.0, y = 10.0;

System.out.println(x/y);
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public class Weight2{
public static void main(String[] args){
double heigh, wight;
height = 1.73;
System.out.println("Height :" + height + "m");
weight = heightxheight*22;
System.out.println("Standard weight : "+ weight + "kg");
}
}
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height : 1.73m

Standard weight : 65.8438kg
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public class Weight2{
public static void main(String[] args){
double heigh, wight;
height = 1.73;
System.out.println("Height :" + height + "m");
weight = height*height*22;

System.out.println("Standard weight : "+ weight + "kg");
}
}
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import java.util.Scanner;

public class TestInput{
public static void main(String args[]){
System.out.println("O00O000OOOOOO");
Scanner scan = new Scanner (System.in);
int a = scan.nextInt();
System.out.println("0D 00000000 : "+ a);
}
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int a = scan.nextInt(); 0 0O0O0OOOO

double a = scan.nextDouble(); 0 ODOOODOOO
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System.out.print("Input an integer:");
int a = scan.nextInt();
System.out.println("a =" + a);

N

Input an integer: 3
a=3
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System.out.print("Input a real value:");
double a = scan.nextDouble();
System.out.println("a =" + a);

Input a real value: 3.1
a=3.1
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import java.util.Scanner;

public class Weight3 {
public static void main(String[] args) {
double height;
Scanner scan = new Scanner (System.in);
System.out.print ("Input Height (m) : ");
height = scan.nextDouble();
System.out.println("Standard weight : "+ (height*height*22) + " kg");




